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This paper consists of four Section A,B.C and Section D All sections are compulsory.
Read the questions carefully before attempting.

SECTION A

gee—1

I.  Multiple Choice Questions

(Ix5=35)
1. Thevelocity of a hody as a function of time i V(1) = 241422~ Find the ve

locity at t=1 sec is:
(a) 3 (W 4 (¢)-3 (d)=

2. The value of V10 times V15 is equal to:

(M 5\0 (b)\23 (¢) 1ONS (dy\s
300 IR0 = (x+2)(x+3) for all K, find the value of k.
(a) -1 (b1 () 3 (VAR

4. I the coordinates of a point are (0, -4), then it lies in:

() X-axis (VT Y-axis (¢) Atorigin (d) Between x-axis and y-axis
S. Assertion: every rational number is written in the form if p/q where p and q are integers, q=0
Reason: 773 is a rational number.
a.) Both Assertion and Reason are correct and Reason is the correct explanation for Assertion
b.) Both Assertion and Reason are correct and Reason is not the correct explanation for Assertion.
¢.) assertion is true but the reason is false.

’
d.) both assertion and reason are lalse.

SECTION B
I1. Very Short Answer Tvpe Question (1x3 =3)
I: Express :9999. x4 as a fraction in simplest form.
2. Simplify (3a - 2b)’
3. Rationalize the denominator and simplify Vi-\2 3
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. (2x3=10)
111. Short Answer 1Ype Ouestion- -,
- ot bt abe. @ ®
1 Ia h 0 ‘lllxl ab he el 0. [ind the yalue ola bt ant
o 1
5 Qee the figure and write the following: :
= ' N s+ L
(i) The Coordinates ol B. .
A )
. P N o ._----—D
(i) The coordinates ol C. ne ’l ;
5 . < | M et i
(iii) The point identified by the coondinates (=3.-9) X 0 e
i 1 - a i
(iv) The point identified by the coordinates (2 i ' 2 | ;
" ':' wan i ;
' I i ‘G '
3. Simplity the following e .
e JRTACE)
() 3(at bH'U xS @ b \sta i
BN
. y oy . S RN
(1) (2x 7Y)) = 3
SECTION D
1V. Long Answer Type Question - (1x3= 3)
Casc Study
1. On one day, princi al of a particular school visited the classroom. Class teacher was teaching the concept of
p
polynomial to students. He was very much impressed by her way of teaching. 70 check, whether the
students also understand the concept taught by her or not, he asked various questions to students. Some
of them are given below. Answer them
() Which one of the following is not 2 polynomi:ll‘.’
(a) 4x2+2x -1
(b) y+ (37y) SRS
(c)x* -1
(d)_\“ + 5y + 1
(ii) The |)0|)‘||0|1|iz|| of the type ax* +bx e, = 0 is called
(a) Lincar polynomial
(b) Quadratic |m|_\‘numiul
(¢) Cubic polynomial
(d) Biquadratic polynomial
(iii)  The value of K, if (x = 1) is a factor of 433 4 3x2 —dx K is-
(a) |
(by 2
(¢)-3
(dy 3
2. (i) Simplity V3 l_\-'_l
(1.5)

GO ICx = 2 4 N3, find the value of x 4+ 1/x
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